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Christmas Division

Solve the following word problems.

Santa Claus has 90 gifts to distribute evenly
among his 9 reindeer. How many gifts does each
reindeer get?

In a Christmas party, 56 cookies were baked and
need to be divided equally among 8 children. How
many cookies does each child get?

For Christmas, a family of 6 decided to donate 72
toys to a charity. If each family member donates
the same number of toys, how many toys does
each person donate?

A Christmas tree farm has 81 trees. If they want to
divide them into 9 equal sections, how many trees
will be in each section?

Mrs. Claus baked 64 gingerbread cookies and
wants to put them in 8 boxes equally. How many
cookies will be in each box?

A school is organizing a Christmas play and needs
to divide 36 students into 6 groups. How many
students will be in each group?

A Christmas charity event collected 78 toys and
wants to distribute them equally among 6
orphanages. How many toys will each orphanage

‘eceive?
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